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1. The question paper is in the form of a booklet,
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* does not have any unprinted or torn or missing pages or items. If so, get it replaced by

a complete question booklet, ' :

3. Each question is printed both in Hindi and English. In all matters, the English version is
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filling the OMR answer sheet.
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mark or any other mark and half-filled circle.
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9. Do not use the OMR answer sheet for doing any rough work. Space for rough work is
appended in the question booklet at the end.

10. Do not fold or mutilate or make any stray marks on the OMR answer sheet.

11. Each correct answer will carry ONE Mark. 0.33 mark will be deducted for each
incorrect/wrong answer.

12. Multiple answers for a question will be treated as WRONG ANSWER. Un-attempted
‘question will carry NO MARK.

13. No candidate shall be allowed to leave the Examination Hall till the completion of the
examination.
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Part I

- General Awareness and Reasoning

1. Which of the

following s
the stereoscopic 3D effect achieved by
means of encoding each eye's image
using filters of different (usually
chromatically  opposite)  colors,

~ typically red and cyan.
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A. Anaglyph

~ 'B. Cognitive Vision

C. Virtual Reality
D. Adaptive Re-construction

. As per the Information Technology

{Intermediary Guidelines and Digital
Media Ethics - Code) Amendment

- Rules, 2023, which of the following is

the “preferred agency” to determine

- fake news with respect to any business

of the central government?

fam, 203 & IER, B WIR B
Tt ot soawy % ey # woff $ARR
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A. Electronic
Center.

B. Ministry of Electronic and
Information Technology. :

C. Press Information Bureau.

D. Broadcasting Contents Complaint
Council.

Media Monitoring

3. Which Organization did India and

France recently establish to carry out
the Paris Agreement?

. m#ffsza%‘mﬁi’fﬁmw@a

B W B & g e daw & v
o .

A. International Solar Alliance.

B. Global Bio-fuels Alliance.

C. Clean Energy Ministerial Bio-
future Platform.

D. Mission Innovation Bio-Energy
initiatives, :

. Which of the following body regulates

Genetically Modified crops in India?

4 Pl & ¥ A w1 Rew vRa 3

HdR® ¥u § dfm wuel #
e s g

A Indian Council for Agriculture
Research.

B. Food Safety and
Authority of India.

C. Genetic  Engineering  Appraisal
Committee.

D. Directorate of Plant Protection,

- Quarantine and Storage.

Standards

5. Which among the following statement

is not true with respect to
“Commission of ‘Railway Safety”
(CRS)?

1. The CRS is a statutory body.

2. The CRS works under Ministry of
Railways.

3. It.deals with matters pertaining to
rail safety and train operations.
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1 only
2 only
3 only
None of the above.

one»

. Which one of the following is
frequently described as “The Tamil
Veda”?

B e R S
& ¥ & oftfa fror mar &2

A, Nalayira Dhivyaprabandham
B. Tevaram
C. Periya Puranam
D. None of the above

. Which one of the following scholars
introduced the concept of Human
Development Index?

7. Fofefe & & fra fgm 3 wme R
YIS B ayRn @1 uivey fan

A. Amartya Sen

B. Mahabub-ul-Haq
C. EllenC. Semple
D, Ratzel

. Which one of the following is a land
- locked harbour?

. PrufafRa 3 @ B e wer daeTs
&

- A. Vishakhapatnam

B. Ennor
C. Mumbai
D. Haldia

Which of the following is termed as
“National Income”?

PR 7 @ B < o BE
o 82

A. Gross Domestic Product + Net

B. Gross National  Product ~
Depreciation '

C. Net National Product at Factor
Cost.

D. Nonre of the above,

10. The idea of planning in India was

drawn from

1. The Bombay plan.

2. The experience of Soviet bloc
countries. :

3. Gandhian vision of society.

4. Demand by peasant organization.

10, v B i @R B SR Fe o
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" A. 2and 4 only

13

B. 4and 3 only
C. 1and 2 only
D. all the above

Inasdetmﬁcmsear&studyﬁxm
variables - X, Y, and Z - were
investigated for their potential




- correlation. Variable X is temperature,

Y is humidity, and Z is rainfall. The
study found that as temperature

_increased, rainfall decreased, but

‘___:humdzty increased. Which of the

following condnsmns can be drawn

’ fromthiainformaﬁon?

A Rainfall and humidity have a

_ B. Temperature has a

11

positive correlation. ;
negative
correlation with rainfall.

C. Humidity has no correlation with

temperature.
D. Rainfall has no correlahon with

humidity.
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12. A manufacturing cqnipany‘ pmduees

three types of products: A, B, and C.

 Product A contributes 40% to the

company's total revenue, Product B
contributes 25%, and Product C

- contributes the rest. If Product A's

revenue is Rs 20,00,000, and Product

: B‘sme&meisRle,Sﬂ,OOO whaxisthe

l:ofal eompmy revenue?

12. T Fmfn $oft &9 veR & SRl &

13.

13,

I BER §: A, B, AR CI IEG A
B0 F F9 vo F 40% BT dEH
A 8, I B 25% BT GAEE 34 B,
3R I ¢ 9 BT OrreE AT B o
TATE A T I 20,00,000 TUD B, 3R
FAIE B FT IR 12,50,000 92 &, @

S BT g o fre &

A. Rs32,50,000
B. Rs40,00,000
C. Rs50,00,000
D. Rs62,50,000

If all politicians are not corrupt, and
some corrupt individuals are wealthy,
which of the following must be true?

A. Al wealthy individuals are
politicians.

B. Some politicians are corrupt.

C. All corrupt individuals are
wealthy. :

D. Some politicians are not corrupt.

Uf&wmﬁmtﬂ!ﬂﬁ'? IR T uy
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A. ot ol =il I 1
B. T IS WE )

¢ o vy afdfdad
D. TO A1 YE TE ¢

14. A is three times as old as B. A was

twice-as old as C four years ago. In
four years’ time, A will be 31. What
are the present ages of B and C?

14. A 39 # B ¥ 71 997 81 IR W@

UEA, A, C ¥ Q) T 98I U1 | IR B
0 7 A 31 8 wom B aiR ¢ F
adAr oy T &7




A. 9,46
B. 9,50
_ C. 10,46
D. 10,50

15. A and B decide to travel from place X
to Place Y by bus. A has Rs 20 with
him and he finds that it is 80% of the
fare for two persons, B finds that he
has Rs 5 with him and hands it over to
A. In this context which one of the
following statement is correct?

A. Now the money A has is just
enough to buy tickets.

B. A still needs Rs 5 for buying
tickets. :

C. After buying the two tickets A will
be left with 6 Rupee.

D. The money A now has is still not -

sufficient to buy two tickets.

5. ANRNBTWIRNVUAX I VA Y TP
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Read the following passage and answer
the question that follows.

PrefifRe maiw B 03 ok IEF T
3TE YA BTITW |

Instituted in 1979 as a temporary
measure to limit population growth,
China’s one child policy remains in force
today and is likely to continue for another
decade. China’s population control policy
has attracted criticism because of the
manner in which it is enforced, and also
because of its social repercussions.
Supporters of the Chinese’s government
policy consider it a necessary measure to
curb extreme overpopulation, which has
resulted in a reduction of an estimated 300
million people in its first twenty years.
Not only is a reduced population

',environmhﬂy_bemﬁdal, it also

increases China's per capita ~gross
domestic product. The one-child policy
has led to a disparate ratio of males to
female - with abortion, abandonment and
infanticide of female infants resulting
from a cultural preference for sons.
Furthermore Draconian measures such as,
forced sterilization are strongly opposed
by critics as a violation of human
reproduction rights. The one-child policy
is strictly enforced in urban areas, whereas

 in provincial regions fines are imposed on

families with more than one child. There
are also exceptions to the rules - for
example, ethnic minorities. A rule also
allows couples without siblings to have
two child - a provision which applies to
millions of sibling-free adults now of
child-bearing age. :

16.Consider the following statement and
select the correct option given.

S1: The passage suggests that two-
child families will dramatically
increase, as sibling free adults reach
child bearing age.




S2: The general preference #mong
Chinese parents is for male babies.

A. Bothare True.

B, Both are False.

C. St is True and S2 is False.
- D. Sl is False and S2 is True.

17. In a certain code BANKER is written
as LFSCBO. How will CONFER be
written in that code?

17@%@3&3%3@%
¥ ¥y ¥ for o 81 99 o H
CONFER %! 3 férgr serm

kRt
- B. FGSDOP
C. GFSEPO
D. FHSDPO

18. A square field ABCD of sides 90m is
so located so that its diagonal AC is
from north to south and the corner B is
to the west of D. Ramesh and Suresh
start walking along the sides from B
and C respectively in the clock wise
and anti-clock wise directions with
speeds of 8km/hr and 10 km/hr.
Where will they cross each other?

A.OnADatadlstarmofinmfromA
B. On BC at a distance of 10 m from B.
C. On AD at a distance of 30 m from D,
D. On BC at a distance of 10 m from C.

8 90 e Yol B @ aeR A

ABCD 301 fya 8 & s fef Ac
TR IS B R FABD S

- uigm A &1 Vi oik ww g Rl
_,maemaﬁmﬁmmk

B ¥R C 9 usll ¥ WY T TE @
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A ADWR AR HRPITHW
B. BCWR BAOHARFITHW
C. ADWRDIAHRA AR
D. BCR, CH10HiR B ghuy

19. Find the value of ?/ ? & HA WK
Cait ~

56

A. 127
B. 142
C 158
D. 198

20. Which of the following year has same
calendar as that of 2023?

20. Frafofea 3 9 g af & &t 203
FgUAE?

A. 2015
B. 2016
C 2017
D. 2018




Part~ 11
General English and General Science

21, Which one of the following means “a
way of speaking or writing that makes
something sound better or more
exciting than it really is.”

A. Metaphor

B. Simile

C. Hyperbole

D. None of the above

22. Choose the most appropriate word
which means “to smile in a silly or
unpleasant way that shows that you
are pleased with yourself”,

A. Smile
B. Grin
"~ C. Sneer
D. Smirk

23. What does the phrase “Sure as eggs”
. means?
A. Doubt that something will happen.
B. Definitely going to happen.
C. Stating something in an
exaggerated way. '
D. To become worth mﬂung

24. Choose the most appropriate synonym
for the word “Ignominy”
A. Esteem
B. Disgrace
C. Regard
D. Exalt

25. Choose the most appropriate antonym
for the word “Clamorous”
A. Vociferous
B. Raucous
C. Calm
D. Blatant

26. Which one of the usage of adjective is
appropriate?

A. 1 love that big old green antique
car,
B. I love that green old big antique
car,
C. I love that old green big antique
car. .
D. 1 love that antique big old green

m Read the iollowing passage
andamﬂuqmoﬁmtwwﬂm

i Every morning, rﬁwmr old
Khushi becomes guardian to her five-year
old sister Ankitaas _(1) hold hands and

cross the railway tracks to reach the

school. The 2 km route they walk on foot
to reach school __(2) _ includes walking
past a railway crossing and through the
lanes of an industrial area used by mini
trucks and carrier vehicles.

1 gt Selactﬂ:emostapptopriaseopaonfor
blank No 1

A.them

gnwm;
;ﬁg}%

m&m&mmmtappmpm&opamfm
blamkNo2 o

B. &aily :
C. widely
D. evenly

: Ay Batds s Gormact Hlist Turon of the




A. Father asked me if you were going

. tokeep him waiting all night.
- B. Father told me that you are going
- to keep him waiting all night.
C. Father asked me are you going to
keep me waiting all night.
D. Father asked me if I was going to
keep him waiﬁng all night.

SOSeiactﬁtacorrectacﬁveformof&m
. given sentence. :

 “We will allbegreaﬂybeneﬁttedhy
this scheme”.

A. This scheme has greatly benefitted
us all. L

B. This scheme would greaﬁy benefit
we all ;

C. This schemewiilgreaﬂy benefit us
all.

'D. This scheme is going to greatly
benefitusall.

3},AnE!ectmmgnehcwaveofv=3
MHz passes from vacuum info
dielectric medium with permittivity
~ €=4, then :

. A Wavelength 'is doubled and
’ frequencymmaimumhmged
B. Wavelength is doubled and
frequency becomes half.

C. Wavelength is halved and the

frequency ; rema:ms uny

~D. Wavelength and ﬁeqwency both

remain unchanged.

= 4 tmwtm&;ga

U € =
Hifeun ora 8, s

A T 2ef SRl @ ot @ ok ey
uiafda wd g
B, MMQMNMW
37t 8 ot &1
o Mw@m%mm
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:

32. In the International System of Units
(S1) 1x10-®seconds is termed as

32, a‘ra%fgamiﬁaﬁmrtﬂ(sn #1108
YHSH__ wETAe

A. Zepto second
- B. Femto second

C. Atto second

D. Pico second

33. During the pmducuon of ethanol by
fermentation of sugars, the action of
zymase is inhibited once the
percentage of alcohol formed exceeds

33. R & P gRT e S I H
ERF, TF §R &9 90 ePEd P
wiasra e § R w see 9

A 7%

B. 10%
C 12%
D. 14%

34, What is the cheniical name of vitamin

B&?
%m&swmﬁﬁmwtz

A Thsamme
B. Riboflavin
C. Pyridoxine :
D. Cyanocobalamin




35,

35.

37.

7,

How many chloride ions are

surrounding sodium jons in sodium
chloride crystal?

HftTn wRgs frea 4 Wi
ﬁaﬁ%mmmm

R
CNE- TN
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. Development of unfertilized ovum

into a new individual is called as

. difnfea f&e & wo v afda &1 Rew

| _ I SR8

A. Parthenogenesis
B. Gametogenesis
C. Embryogenesis
D. Syngamy

How many microspore mother cells
are required to produce 1000
microspores/ pollen grains?

1000 AR,/ TR BV JeW B F

R el AR g Sl #
Sirayaal Bl 2

A, 500
B. 100

- C. 1000

D. 250

- Mother and father of a person with ‘0f

blood group have ‘A’ and ‘B’ blood
group respectively. What would be the
genotype of both mother and father?

A. Mother is homozygous for ‘A’
blood group and father is
heterozygous for ‘B,

B. Mother is heterozygous for ‘A’
blood group and father is
homozygous for ‘B’

C. Both mother and father are
heterozygous for ‘A’ and ‘B’ blood
group, respectively.

D. Both mother and father are
homozygous for ‘A’ and ‘B’ blood
group, respectively.

38. 'O’ Y& WHg aTa) sufeky & wren oIk R
| 1 T UHE WE: ‘A’ R B ¥1 HIE

d forr it o SiireTed @ g

A ‘A Yo WHE ¥ R B angeh &

3R '8 & fovq e farwmrgeft &

B. ‘A" o g ¥ forg uf Rwergwesh &
3R ' 3 forg v sl 81

C. T 3R e 2 wem: A IR B
7o OeE & v Rwwgsh €1

D. T 3R e 2 A AR B
mmtmmt;

3, M”Gﬁwﬁcﬁngimethg whidmfﬂxe
. following act as “Gene Taxi" or
© “Vector”?

. RE b § Pafifee 3 @

P At a1 daey & w5y vl
B 82

A. Plasmid
B. Protozoa

€. Marker

D. RNA




40. meyﬁmpmmmm.

. are part of World Network of

. Biosphere Reserves based on UNESCO
- Man and the Biosphere (MAB)
program?

40, W # 5o ardRpiR Rod gt B

U8 § SRR (MAB) FMBH W
amenfya FroRER Red ¥ Ry dead
FRwE

Part-111
Arithmetics

41. A train covers the first 15 km at a
speed of 10 km per hour; another 10
km at 30 km per hour and the last 18
km at 45 km per hour. Find the
average speed of the entire journey.

41, 0% 2 Ugd 15 fovlt At g 10 el ol
o2 3 7fa @ 79 Bt §; 9= 10 Rt 30
frft ofY o2 & 7Ry ¥ ok oiftw 18
farht 45 foeht ufey 92 9t oy /1 o e
ﬁ’mmm‘mt '

: 18
" Be
16
B. 18;:;

‘ 17
c. 15

D. 17-"-3

42, Find the compound interest on Rs

1000 at the rate of 20% per annum for

18 months when interest is
compounded half-yearly.

42.1000 $98 WX 18 WA & R 20%
- o # W A e S IE B, o
w7 sl w0 & WRm frar 8l

A. 331
B. 1331
< 320
35

43, Let N = 1421 x 1423 x 1425, What is

the remainder when N is divided by
: A

43 W N = 1421 1423 x 1425, SN 3}
12 & fanfora foa S 8 & Qwwa
B g?

A 0
B 9
£ 6
2.3

44. A litre of water evaporates from 6L of
sea water containing 4% salt. Find the
percentage of salt in the remaining sea
water. :

44, TFT N = 1421 x 1423 x 1425, 5@ N 9!
12 ¥ Rwifor e aren & ) Iwww
B e?

1
A, 5*2'%

B. 3:%

N

R

154%

45.Rampurchased10 calculamm 16
watches for Rs 56100 and sold them so
aatoeamanwerﬂlproﬁto{z}% At
what total price should he sell 15
caleulators and 24 watches so as to
earn the same percentage of profit?




45, T 7 56100 ¥9Y F 10 PepAc AR 16

orenanT 20% T U ST O FH | AH
F1 g wfawa 4ffa 7 & e 32
15 3R 24 ufgdl pa feaa
H W 9941 Fifgw?

A. 116176

B. 100660

C. 100980

- D. 1211%

46. A can finish a work in 18 days and B
can do the same work in 15 days. B
worked for 10 days and left the job. In
how many days, A alone can finish the

~ remaining work?

4. AfSdQiem s sRAAWa gea
3R B 3@ P @ 15 B ¥ @@ W
oM §1 B ¥ 10 R a9 om 5w sk
Tredt os & A 4Fd 9w el B
e el 8 QR ) wea &7

2wy
oo Ot U
1 e

47. A hall is 15m long and 12m broad. If
the sum of the areas of the floor and
the ceiling is equal to the sum of the
areas of four walls, the volume of the

. hallis

47. @@ gia 15 Hex da iR 12 diex Her
? o o ok oa & Aawel B O
IR SRl & &we & 9N F WK 8,
Gidaakafciinod

A 720 m®
B. 900 m?
C. 1200 md
D. 1800 m*

~ 50. Out of the fractions

48. The present age of Mr. Shankar is
three times the age of his son. Six years
later, the ratio of their ages will be 5:2.
What is the present age of Mr
Shankar?

48, xR ) o g I @ A oy
¥ 7 T 81 o8 o W, A g
3UTd 5:2 B ot BT P FEAN 341
R

A. 54 years
" B. 48 Years
C. 50 Years
D. 60 Years

49. Find the value of

(096201 -
(0.96)2+0.096+(0.1)
49, mmmm I

A.086
B. 0.95
C.097
D.1.06

3 28 s
17 917 98" 49"
 and = which is the largest ?

9 el 7
- s - iiamand;;ﬂ

3’ 173’1
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AL




51, There are two examination rooms A

and B. If 10 candidates are sent from A

to B, then the number of candidates in
each room is the same. If 20 candidates
are sent from B to A, then the number

of candidates in A is double the

~number of candidates in B. Find the
number of candidates in room A.

ol A RBEI AR AFBH 10
FullEaR! 99 o 8, @ uow By o
Fufiear! #t wen auF 8 81 a0
FcaRI P pAAB TN TNE D A
# 3nfieart @t W B F sufgart
em & A &1 TR A § gnfean

52. The value of

W, e TR, e O
logs 60 log460 logs 60

5 BIAFE |

A. 0
B
G5
D. 60

53. The mieasures of angles of a triangle

_are in the ratio 2: 7: 11. Measures of the

angle are

mﬂw%m&mw 1 F
ua Ay PPy

A. 189, 639, 990
B. 16°,56°,88°
C. 20°70°% 90°
D. 25, 179", 108"

i1

54. A sum of Rs 1240 is distributed among
A, B and C such that the ratio of
amount received by A and B is 6:5 and
that of B and C is 10:9 respectively.
Find the share of C.

54. 1240300 B AR A, BAR Cc F A gy
TR faRa #t o § % A iR BER
VI XITRT &7 (4T SHHE: 6:5 R B 3R
C GRT T 1 T 3UTd 10:9 B C BT
fow s SR,

A. 480

ong
g5 8

55. A man walking at the speed of
4Km/hr, cross a square field
diagonally in 3 minutes. The area of
the field is

55. U 3freHt 4 et/ der 9t iy & =era 3y
U arfer A #t 3 fime 3§ e v
QUR Fa1 B BeF o1 ATpa &

A. 25000 sqm
_B. 18000 sqm
C. 20000 sqm
D. 19000 sgm

56. How many working days will be there
in a month of 30 days beginning on a
Saturday; if every Sundays and second
Saturday is a holiday?

56, YR & g 8 AR 30 Ref Bl A
e o Raw g, ot vd® War
3R TR AR B get &

g
L
C 2
D

E




57. Simplify the following expression,
25-(4+2)+115+95

57, fafef@a siftrefd &) gva Sk

25-(4+2)+ 115+ 95

A 46
B. ¢4
C. 45
" D. 47

g | : 140
.A‘&ammmx;ngataw}of‘?
- m/sec crosses a pole in 27 sec. find the
length of the train. u

12 ¥ A v W B R A B
A. 320m
B. 120m

C. 420m
D. 220m

. A man bought a chair for Rs 580. At

what price should he sell the chair so

as to gain 25%?

. T 31EH) A 580 ¥ H v p wlidh
T 25% N TTE F & Rig el At
e ot W A AR

A 75
B. 1080
 C. 59
D. 820

. Find the value of X.
. X %1 | 919 S |

g3

5 of = of 42% of 540 = X2 - 45,

A7
B. 13
C 9
D 12

. 40 2 s o TR o A

 Part-lV
Botany

61. Brown algae constitute which of the
following group.

b D Phaenphy!a

\ 62. mmbuefbaﬁdmmmmd '

in each basidium is

62 T AR A AR

12

&) dor i &
A 2
B 4
G
D 8

63. Major function of Tapetum is

6. %ﬂzwwmm%

B CMW ofﬁmd mmwl
C De&nswem

D. Multiplication

&Wm@ﬂwjm:skrwnforwhmhof
the Mowmg type of geneﬂc

m YT ]
wmmtmﬁmm%

A. Complete dominance
‘B. Co-dominance




65, Pcnen'grah\s without apertures are
called

- mmmwms

A Atreme
B. Ulcus
C. Porus
D. Sulcus

66. Which of the following is not true
: aboutplantmzymes?

A. Enzymes are proheam wzth
complex  three - dimensional

B. Catalyse only specific reactions of
a single or only a few substrates.

C. They are less sensitive to
temperature and pH.

D. Can be regulated by specific
molecules which can change
confirmation and therefore the
activity.

%.Wm%iaﬁﬂﬁmaﬁﬁ
PRI TTTE D

A wmammewm
- e '

B. WWWMWW&@

- Ry ufefrmsl & aRa Bt

C ¥ aWRM MR pH F Ul FW
Weadm e g |

D. fafty srpait grr Rifafte Rsar o
wwal § W gRww ok TRl
R B sew g

67. Which one of the following is used for
measuring transpiration?

o T A G B

) Rt IdnT o S 82

A. Potometer
B. Porometer
C. Osmometer
D. Refractometer

68. Zinc is essential for

~ A. Biosynthesis of anthocyanins.
B. Biosynthesis of auxins.

C. Opening of stomata.
D. Oxidation of amino acids.

65, fofes i fore araeass 7

A UirarfE o Saueyo
B. Silfa &1 Sauemu

C. it srgesn .
D. mmmm

- 69. Okazaki fragments are

A. Segmenis of DNA capable of
replication.

B. Segments of chain of nudeondes
formed during replication of DNA.

C. Segments of DNA  which
undergoes recombination.

D. Segments of chain of nucleotides
formed during transeription.

69. NPT THIE

A. Masus-mmﬁmf
B. Sl @t nRpfe & Znm
Wﬂmt@zm
|
c ?mammwmam
|

D. W ¥ IRE yfdiese @
H & WS T B

70. Match the list given below
70.R{E R e st




List 1
1 | A monohybrid cross | A
between two
heterozygotes (Aa x
Aa) produces an
expected  genotypic
< | ratio i
2 | A monohybrid cross | B
between two
heterozygotes (Aa x
Aa) produces an
expected phenotypic
ratio :
3 | A monohybrid cross | C
(ala2 x ala2) in which
either alal or a2a2 is
lethal produces
phenotypic ratio
4 | A monohybrid test|{D
cross (Tt x #)
produces  genotypic
and phenotypic ratio

A 1-B;2-A;3-D;4C
B. 1-C; 2-A;3-D; 4-B
C. 1-D; 2-A;3-C; 4-B

D 1-A;2-B;3-D; 4C

List2
31

121

b L §

21

71. Soil salinity is measured by

71. &1 % wravrar A} s 8

A. Colorimeter
B. Conductivity meter
C. Spectrophotometer
D. Potometer

72, ICAR-Indian Institute of Rice Resesech
. is located at

72. TR 1R
. JumfREe

A. New Delhi

B. Varanasi ~Uttar Pradesh
| C. Cuttack, Odisha

D. Hyderabad-Telengana

AW FHYE
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73. The common bread wheat is
73. R A NE R

A. Diploid

B. Allohexaploid
. Allotetraploid
. D. Autotetraploid

74. The scientific name of pigeon pea is
74. 3RER BT IPAD T

A. Phaseolus vulgaris
B. Cajanus cajan
D. Vigna unguiculata

75. What are Histones

75. ¥

A. Basic proteins

B. Acidic proteins
s Lipoproteins

D. Pyrimidine bases

76. Which one of the following about
DNA is not true.
C. Cannot absorb UV rays.
D. Can take different forms.

76. mAtﬁ#mmﬂ%mw
aaTee

A. €It s o1 Rt

B. @A ®FMm @1 S &%
e fem oy

C. v Bun # safta 9l a7

-p. Rfmsudasad




77. Dioecy is a condition where 80. In chromatography, the stationery

; phase can be
A. Male and bisexual flowers occur in
same plant. 80, PR &, RR WO - B
B. Male and female flowers occur in FHAE
separate plant. ;
. C. Male and female flowers occur in A. Solid only
same plant. L B. Liquid only
D. Bisexual flowers only occur in a C. Solid and liquid
plant. D. Gaseous ;
77 RAN@UARMETT = g1 What is the statistical formula for
% Gl e ~ degrees of freedom? (df= degrees of
A TR IR vl o o @ O A freedom and n = number of values in
gL the sample set)
B. TR AR AT B T IHT dﬁ) #
LuGES 81. mmm*mmvw
C wmmwwé}ﬁﬂm &2 (df = Wi B Bl oIk n = T
dE e A 7ed) 2 wem)
. T 1) 7 A I - | ~
D. Tt & e Fuaferh pa g § L L
78. The phenomenon of linkage was first  anixn
orkeit by C. df=(n2)-1
| D. df=n-1
70 RIS 01 GE 0 U0 B W o 1 e amed for detection of Bands in
feiié t ¢ e protein electrophoresis is
-g?’};“m‘ ' 82 W Yguawvniae # ¥ w1 ww
i A F S TR 3
i ARegn | o o TEE
D. FK.Skoog : A. Coomassie Brilliant Blue.
_ , B. Folin-Ciocalteu.
79. Which of the following are types ‘of C. Efhidium bromide.
rating scale, except ) D. Sudan blue.

70, Py & & v Y2 W v &, R 83, Choose the matching pair

| 83, Be @ Fren s g
A, Numerical
B. Graphic A. Sargassam- Bryophyte.
C. Descriptive : B, Cyathodium- Algae.
D. Alphabetic s C. Polyporus -Fungi.

D. Volvox ~Bacteria.




84. Bacterial bioluminescence is mediated

by which of the following enzyme

84, dfgw sEiEdY @ wereE
f:ff%@a 7§ by Gersw g @ ot
A. Luciferase,
B. Lactose dehydrogenase.
C. Carboxylase reductase.
D. Coenzyme Q.

85, Which of the following phenomenon
of fertilization happens in Cycas

85.Fuff@a 3 ¥ Pies o o @ wew
ey duRa B g

A. Zoodiogamy.

B. Siphonigamy.

C. Zoodiogamy and Siphonigamy.
D. None of the above.

86.The process of rapid and short term
physiological adjustment to the
.changing environment by plants is
known as

86, Ol g e weeor 35 e R
- s i TameE @ uite
B DO

A. Phenotypic plasticity.
B. Adaptation.

C. Acclimatisation.

D. Plasticity.

87.In  ecological succession, the

intermediate developmema] phase is
known by what name?

. aRkfRRE  ogEwr #  meredl
fAwraes wor B g 9w ¥ o
. e
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A. Sere

B. Climax
C. Pioneer
D, Ecesis

. What is the name of the process in
which oxidised carbon from the
atmosphere oxidised hydrogen from

. water are reduced and combined to

build organic compounds of carbon

and hydrogen.

. 9 oftra @1 ga1 A § Rl argrisa
q ofiedfipd »rdA, Ui § sifedigpa
BRSO B B a1 o § IR P
IR TP ¥ wefe e @
femfor fan s &

A Evapotranspiration.
B. Pﬁotosynﬂwsis
C. Carboxylation.
D. Carbonylation

8?{. The book titled Systema naturae was

80. R ¥ W gww e Zm
foreft g of

A. G Benthum
B. C Linnaeus
C. G Bauhin

D. ] D Hooker

90. The largest herbarium of the world is
placed in

90. mmmmgmmg

A. Kew, England
B. Dehradun, India
C. Sydney, Australia
D. Kolkata, India




9.

L

. afRkage

Oxidative  phosphorylation  and
electrm transport happensin

A

A. Mitochondrion

B Chitrerfant
C. Amyloplast

- D. Leucoplast

92. Choose the name of the plant hormone

which is responsible for embryonic
dweiopmentandseed filling '

ummmwmgﬁaﬂw#

3.

T ok diw v & o iR §

A. Indoleacetic Acid
B. Abscisic Acid

C. Gibberellic Acid
D. Zeatin Riboside

. The final product of C4 carbon fixation

is

¢4 wid Rffeor #1 243w 3UR —
(!

A. Oxalate
B. Malate
C. Aspertate
D. Pyruvate

o0 o000

. The enzyme DNA polymerase Il does

A. Synthesis of complementary pairs.

B. Proof reading activity.

C. Topological transitions.
D. Duplication of DNA.

17

%wmm@mnmmw
A8

A. Q% Gl 1 eRewo
B. YW ugH B vifafy
C. Wy ufad,
- Ao

95. A  single-stranded, radiolabelled
- molecule of nucleic acids is called

95, e YRS ¥ voatd, Yeddww
HUP____ PEIRIE

A. Probe

B. Vector

C. Cosmid

D. Selectable marker

96. A vector used in cloning of large DNA
fragment is

%.@mAmﬁﬁwﬁﬁﬂﬁmm

B —

A, Plasmid

B. Bacterial artificial chromosome
C. Cosmid

D. Col plasmid

97. Alleles of different genes that are on
the same chromosome  may
occasionally be separated by a
phenomenon knownas

97. 9% € o W Heg RAfs o B

Ik C Tk

A. Crossing over
B. Mutation
D. Chiasmata




98. Which of the following statements is

true of two genes that show 50%
recombination frequency?

- A. Genes are present adjacent in a

chromosome.
B. Genes are present in tight linkage.
C. Genes show no independent
assortment,
D. Genes are present far apart on a
: chromosome or on different
chromosomes.

9 FuRtfRT A e o s Qo &

fog v & W s0% geeldem omafy
ERC IR

A, o 7 g 3 st Ho g ¥ 4

B. WA gw gemAdGE e
ol gﬁwﬁ Wi wrifevw T R
! *
D. OfF U% TORE U T EAT-SfenT
- TIOTRE TR R HIE B R

99. Percentile divide the number of items
into wemeesegqual parts

99. SRS el 3 W B T M
7 fnfor e 825

A28
B. 100
C. 10
D. 50

100. Compensation point in plants refers
“ :

A. Where rate of photosynthesis is

equal to respiration.
B. Where there is.  neither
photosynthesis nor respiration.

C. Where there is enough water to
meet the requirements of plants.

D. When the entire food synthesised
in photosynthesis remains
unutilized,

100, O et g wr e &

A, g UBTY HIANU P G 4G B
R B B ,

B. B, Gigl A a BTy TR0 Bar B
IR A& e

C. ¢ gt Ol Bt sramamarst & g
&3 & forg v ol €

D. W Yy wxaw # wedfte wgof
ST ST T8 W 81




ANSWER KEY FOR TA (Field/Lab) - Botany

Q No Answer Q No Answer | Q No Answer Q No Answer
1 A 26 A 51 C 76 C
g - C 27 = 52 B 77 B
3 A 28 B 53 . A 78 B
4 C 29 D 54 B 79 D
5 ‘B 30 C 55 e 80 C
6 A 31 C 56 D 81 D
7 B 32 ¢ 57 B 82 A
8 A 33 D 58 C 83 C
9 C 34 £ 59 A 84 A
10 € 35 C 60 D 85 C
11 B 36 A 61 D 86 C
12 N 37 D 62 B 87 A
13 B 38 £ 63 B 88 B
14 * 39 " A 64 D 89 B
15 A 40 B 65 | A 90 A
16 D 41 C 66 C 91 A
17 A 42 A 67 A 92 B
18 A 43 D 68 B 93 BorC
19 B 44 D 69 B 94 C
20 C 45 C 70 A 95 A
21 C 46 C 71 B 9% B
22 D 47 C 72 D 97 A
23 B 48 A 73 B 98 D
24 B 49 A 74 B 99 B
25 C 50 D 75 A 100 A

* All the options given were wrong and all candidates were given 1 mark.
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